Huacnsnwidt BUewiiH Tamvp, CcnopTsid rasltllblH naprsiH
20114 opbi FJ;J’_‘;?:,(“; . CApPsIH & ~Hbl 8 QUAH
»"1/( ayraap TywaansiH Hargyraap xascpant

Huicnanuiad upraguitd cnopTeiH
HaagmelH Onc TaTanTeIH
TIMUIIHWA TECEB

3apanbiH H3p HuiaT ayH
TamupyabiH LWarHan:

1-p Ganp 10 xyH x 10,000 7 = 100.000

2-p Gavip 10 xyH x 8,000F = 80,000 a0 T

3-pGarp 10xynx 60007 = 80000
Lyyr4amiE awnbiH Xxenc,

/5 xyH x 2 epep x 20.000F/ 10000 Tes
Menanuitd yHa: 30w x 6,000 F = 180.000Ter 180.000 Ter
3aan tanbal4 xenc 200.000 Ter

HyH 700.000Ter

BonoacpyyncaH:
MapramanTaH B TyewwHGasAp

XAHacaH:
HarTnaw Eogomy 0. 3paaHauaLar



